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Sample Paper – 2011
Class - XII 
COMPUTER SCIENCE (083) 

Time: 3Hours            




      Maximum Marks: 70
Note. 
(i)  All questions are compulsory. 

1. (a) What is the difference between Global Variable and Local Variable? Also, give a suitable C++ code to illustrate both.
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   (b) Which C++ header file(s) will be essentially required to be included to run /

execute the following C++ code: 
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  void main()

  {

char Msg[ ]="Sunset Gardens";

for (int I=5;I<strlen(Msg);I++)

puts(Msg);

}

(c) Rewrite the following program after removing the syntactical errors (if any).

Underline each correction. 
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#include [iostream.h]

class MEMBER

{

int Mno;float Fees;


PUBLIC:

void Register(){cin>>Mno>>Fees;}

void Display{cout<<Mno<<" : "<<Fees<<endl;}

};

void main()

{

MEMBER M;

Register ();

M. Display ();

}

(d) Find the output of the following program;
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#include<iostream.h>
#include<ctype.h> 
void main( )
{ 
char Text[ ] = “Mind@work!”; 
for(int I=0; Text[I]!=’\0’;I++)
{
if(!isalpha(Text[I]))
Text[I]=’*’; 
else if(isupper(Text[I]))
Text[I]=Text[I]+1; 
else Text[I] = Text[I+1];
}
cout<<Text; 
} 

(e)  Find the output of the following program:
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       #include<iostream.h>

       void main()


{


   int U=10;V=20;

                 for (int i=1;i<=2;i++)



{ 

Cout<<”[1]”<<U++<<”&”<<V-5<<endl;                       
         Cout<<”[2]”<<++V<<”&”<<U+2<<endl;

}

}

(f) In the following C++ program what is the expected value of MyMarks from options (i) to (iv) given below. Justify answer.
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     #include<stdlib.h>

     #include<iostream.h>

      void main()

{    randomize();

    
 int Marks[]={99,92,94,96,93,95},MyMarks;

    
 MyMarks=Marks[1+random(2)];

    
 Cout<<MyMarks<<endl;

}

(i) 99   (ii) 94 (iii) 96 (iv) None of the above.

2  (a) What do you understand by Data Encapsulation and Data Hiding? Also, give

     a suitable C++ code to illustrate both.
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    (b) Answer the questions (i) and (ii) after going through the following class:             2

        class Seminar

{

int Time;

public:

Seminar()                       //Function 1

{

Time=30;cout<<"Seminar starts now"<<end1;

}

void Lecture()                 //Function 2

{

cout<<"Lectures in the seminar on"<<end1;

}

Seminar(int Duration)    //Function 3

{

Time=Duration;cout<<"Seminar starts now"<<end1;

}

~Seminar()                    //Function 4

{

cout<<"Vote of thanks"<<end1;

}  };

i) In Object Oriented Programming, what is Function 4 referred as and when does it get invoked/called?

ii) In Object Oriented Programming, which concept is illustrated by Function 1 and Function 3 together? Write an example illustrating the calls for these functions.

(c) Define a class FLIGHT in C++ with following description: 
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Private Members:

• A data member Flight number of type integer

• A data member Destination of type string

• A data member Distance of type float

• A data member Fuel of type float

• A member function CALFUEL() to calculate the value of Fuel as per the

following criteria :

Distance 




Fuel
<=1000 




500

more than 1000 and <=2000
 
1100

more than 2000 



2200

Public Members:

•" A function FEEDINFO() to allow user to enter values for Flight Number,

Destination, Distance & call function CALFUEL() to calculate the quantity of Fuel

•" A function SHOWINFO() to allow user to view the content of all the data members

(d)Answer the questions (i) to (iv) based on the following: 
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class CUSTOMER

{

int Cust_no;

char Cust_Name[20];

protected:

void Register();

public:

CUSTOMER();

void Status();

};

class SALESMAN

{

int Salesman_no;

char Salesman_Name[20];

protected:

float Salary;

public:

SALESMAN();

void Enter();

void Show();

};

class SHOP : private CUSTOMER , public SALESMAN

{

char Voucher_No[10];

char Sales_Date[8];

public:

SHOP();

void Sales_Entry();

void Sales_Detail();

};

(i) Write the names of data members which are accessible from objects belonging to class CUSTOMER.

(ii) Write the names of all the member functions which are accessible from objects belonging to class SALESMAN.

(iii) Write the names of all the members which are accessible from member functions of class SHOP.
(iv) How many bytes will be required by an object belonging to class SHOP?
3.   a) Write a function in C++ which accepts an integer array and its size as arguments and replaces elements having odd values with thrice its value and elements having even values with twice its value.







2
Example: if an array of five elements initially contains the elements as 

                    3, 4, 5, 16, 9

   Then the function should rearrange the content of the array as

                   9, 8, 15, 32, 27 

(b)  An array V [20][15] is stored in the memory along the column with each element occupying 8 bytes. Find out the base address of the element V [2][3] if the element V[4] [5] is stored at the address 1000.
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(c)  Write a function in C++ to Delete an element into a dynamically allocated Queue where each node contains a name (of type string) as data.

                      4

   Assume the following definition of THENODE for the same.

    struct THENNODE

       {

         char Name[20] ;

         THENODE *Link;

       } ;

(d)     Write a function in C++ to print the product of each column of a two dimensional integer array passed as the argument of the function.
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    Explain: if the two dimensional arrays contains

	1
	2
	4

	3
	5
	6

	4
	3
	2

	2
	1
	5


   Then the output should appear as:

        Product of Column 1=24

        Product of Column 2=30

        Product of Column 3=240

(e)   Evaluate the following postfix notation of expression (show status of stack after execution of each operation):
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         4,10,5, +,*, 15, 3, /,-

4.  (a) Observe the program segment given below carefully, and answer the question that follows:
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       class Applicant

{

     long Aid;                      //Applicant’s Id

     char Name [20]           //Applicant’s Name 

      float Score;               //Applicant’s Score

   public:

      void Enroll();

      void Disp();

      void MarksScore();       //Function to change score

 long R_Aid ()   {return Aid;)

};

void score update(long ID)

{ 

 fstream File ;

File.open (“APPLI.DAT”, ios::binary | ios:: in | ios:: out);

Applicant A;

int Record=0,Found=0 ;

while(! Found && File.read ((char*)&A, sizeof(c)))

{

If( Id==A.R_AID())

{ cout<< “enter new score”;

A.MarkScore();

________                   //Statement 1

________                   //Statement 2

 Found=1;

}

Record++;

}

If(Found==1) cout<< “Record updated”;

File.close();

}

Write the statement to position the File Pointer at the beginning of the Record for which the Applicant’s Id matches with the argument passed, and Statement 2 to write the updated Record at that position. 

 (b) Write a function in C++ to count the number of lines present in a text file

"STORY.TXT".
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(c) Given a binary file PHONE.DAT, containing records of the following structure type. 3

class Phonlist

   {

      
char Name[20] ;

      
char Address[30] ;

      
char AreaCode[5] ;

      
char phoneNo[15] ;     

      public :

                    void Register();

                    void show();

                    int CheckCode(char AC[ ])

                    {

                            return strcmp(Areacode, AC) ;

                     }

     } ;

Write a function TRANSFER () in C++, that would copy all those records which are having AreaCode as “DEL” from PHONE.DAT to PHONBACK.DAT.
5. (a) What do you understand by Degree and Cardinality of a table? 
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    (b) Consider the following table INTERIORS and NEWONES and give the answer (B1) and (B2) parts of this question.  






Table: INTERIORS
	No
	ITEMNAME
	TYPE
	DATEOFSTOCK
	PRICE
	DISCOUNT

	1.

2.

3.

4.

5.

6.

7.

8.

9.

10.
	Red rose

Soft touch

Jerry’s home

Rough wood 

Comfort zone

Jerry look

Lion king

Royal tiger

Park sitting 

Dine paradise
	Double Bed

Baby cot

Baby cot

Office Table

Double Bed

Baby cot

Office Table

Sofa

Sofa

Dining Table


	23/02/02

20/01/02

19/02/02

01/01/02

12/01/02

24/02/02

20/02/02

22/02/02

13/12/01

19/02/02


	32000

  9000

  8500 20000

15000

  7000

16000

30000

  9000

11000
	15

10

10

20

20

19

20

25

15

15


Table: NEWONES

	No
	ITEMNAME
	TYPE
	DATEOFSTOCK
	PRICE
	DISCOUNT

	11.

12.

13.


	White wood

James 007

Tom Look
	Double Bed

Sofa

Baby Cot
	23/03/03

20/02/03

21/02/03
	20000

15000

  7000
	      20

      15

      10


(B1) Write SQL commands for the following statements:
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(i) To show all information about the Sofa from the INTERIORS table.

(ii) To list the ITEMNAME which are priced at more than 10000 from the INTERIORS table?

(iii) To list ITEMNAME and type of those items, in which DATEOFSTOCK is before 22/01/02 from INTERIORS table in descending order of ITEMNAME.

(iv) To display ITEMNAME and DATEOFSTOCK of those items, in which the DISCOUNT percentage is more than 15 from INTERIORS table.

(v) To count the number of items, whose TYPE is “Double Bed” from INTERIORS table?

(vi) To insert a new row in the NEWONES table with the following data:

14,”True Indian”, “Office Table”, {28/03/03}, 15000, 20
(B2) Give the output of the following SQL queries 
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      (Note: without considering the insertion)

(i) Select  count (Distinct TYPE) from INTERIORS;

(ii) Select AVG (DISCOUNT) from INTERIORS where TYPE=”Baby cot”;

(iii) Select SUM (Price) from INTERIORS where DATEOFSTOCK<{12/02/02};

(iv) Select MAX(DISCOUNT) from INTERIORS;
6. (a) State and verify De Morgan’s Laws algebraically. 
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    (b) Write the equivalent Boolean Expression for the following Logic Circuit.
2

[image: image1.emf]
(c) Reduce the following Boolean Expression using K-Map:
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     F(A,B,C,D)= (0,1,2,4,5,6,8,10)

(d) Write the POS form of a Boolean function F, which is represented in a truth table as

follows: 










1

[image: image2.emf]
7. a) Define the term Bandwidth. Give any one unit of Bandwidth. 
1

   b) Which of the following is not a Client Side script: 
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   (i) VB Script 

(ii) Java Script

   (iii) ASP 


(iv) PHP

   (c) What is a topology?  Write short note on Bus topology.
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   (d) Expand the following terms with respect to Networking: 
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        (i) PPP (ii) GSM   (iii) HTTP (iv) XML

   (e) Knowledge Supplement Organization has set up its new center at Mangalore for its office and web based activities. It has 4 blocks of buildings as shown in the diagram below:


Center to center distances between various blocks











Number of Computers

	Black A to Block B
	50 m

	Block B to Block C
	150 m

	Block C to Block D
	25 m

	Block A to Block D
	170 m

	Block B to Block D
	125 m

	Block A to Block C
	90 m

	Black A 
	25

	Block B 
	50

	Block C 
	125

	Block D
	10


1)
Suggest a cable layout of connections between the blocks.

     

     1

2)
Suggest the most suitable place (i.e. block) to house the server of this organization with a   suitable reason.
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3)
Suggest the placement of the following devices with justification
                              1

(i)   Repeater

(ii)  Hub/Switch

4)
The organization is planning to link its front office situated in the city in a hilly region where cable connection is not feasible, suggest an economic way to connect it with reasonably high speed? 
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